Summer Packet-Seventh Grade
Answer Key
Operations with Fractions



1.  				2.  					3.  



4.  				5.  				6.  



7.  				8.  					9.  



10. 				11. 				12. 



13. 					14. 				15. 



16. 				17. 				18. 



19. 				20. 				21. 


22. 				23. 

GCF and LCM
1.  GCF = 4; LCM = 80		2.  GCF = 5; LCM = 140  		3.  GCF = 6 bouquets
4.  LCM = 120; 8 packages of plates, 6 packages of cups, and 1 package of napkins		
5.  LCM = 12 days			6.  GCF = 7 groups; 11 campers in each group		
7.  LCM = 120th customer					
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